Let's take it up a notch... for each, write the angle 2. / T

relationship you see in the picture and a

statement of whether the angles are equal or add

to 180°.

1. This one is done for you so you know what to
do.
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On these state the angle relationship, write a
statement about whether they add to 180° or are
equal, and solve for x if necessary.

1. This one is done for you so you know what to
do.
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Bubble all the correct answers from above. Don't bubble incorrect answers.
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Don't worry about these, they are just rotated. 9.
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Bubble all the correct answers from above. Don't bubble incorrect answers.
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On these state the angle relationship, write a 17.
statement about whether they add to 180° or are (orfes P‘Df\cwﬂ ‘a’
equal, and find the value of x. G\
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Bubble all the correct answers from above. Don't bubble incorrect answers.
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Bubble all the correct answers from above. Don't bubble incorrect answers.
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Mark the diagram with the given information, 3
state the angle relationship, and then solve for

the indicated angle.

31.m2ACB is 68° Find the m£EFC.
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34. m£HFG=103° Find mzBCD.
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36, m2DCH=63° Find mzACH.
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Bubble all the correct answers from above. Don'tb
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Bubble all the correct answers from above. Don't bubble incorrect answers.
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